Thursday 21st May 2020
L.O - To be able to solve word problems on volume of water in litres, involving addition and subtraction.
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Worksheet 5

Solving Word Problems
Solve.

Hannah mixes 8 L of squash with 12 | of water to make
the drinks for her birthday party. How many litres
does Hannah make?

A tank contained 36 | of water at first. If 19 | of water
is used for cleaning, how much water is left in the
tank?
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Answers

o Acar has 80 Lof petrol in its tank.
Ituses up 48 Lof petrol when it travels from town Ato
town B. The owner puts 35 | more petrol in the tank.
How much petrol s left i the tank?

° Alarge container has 61 of water.
All the water in the container fills up a bottle, a
bucket and a tank. The volume of water in the bottle
is 3 L whil the volume of water in the bucket is 12..
What is the volume of water in the tank?





